Maths Chilli Challenge

Look at the challenges below, choose a level of chilli you want to start with. If
you feel confident, have a go at the next set of questions.
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/ Medium
~AD A




,
Hot

Rubia and Barney are working out the answer to this word problem.

There were 658 grams of pasta in a jar. Barney used 436 grams in his pasta
bake. How much pasta is left in the jar?

Look at their methods. Explain any mistakes each child has made.

Barney
6| 5|8
-4 | 3|6
2 | 8|2
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Boris starts of f with the number that is represented by the base ten below. He
subtracts one hundred, some tens and some ones. He does not use exchanging at
all.
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How many different calculations can he make? Think about how you could work
through this systematically and sensibly, to make sure you do not miss out any
of the possibilities. One has been done for you.
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